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B.Com. (Part I) Examination
BUSINESS ENVIRONMENT
Paper : BC-06

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x2=14
(Very Short Answer Type Questions)

Note — Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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What do you mean by Economic

Environment ?

aTfeleh waieRer ¥ o9 1 THe ¥ 7
What is meant by Industrial Policy ?
srenfrer ifa ¥ o0 sty © 2
Explain the concept of poverty.
TS T ATURON THATET |

When did planning begin in India and how

many Five Year Plans have been completed ?
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(v) Explain any four factors of new agricultural

strategy.
FH F TR F WA F BE AN THE@ T
TS FHITT |

(vi) State the main problems of small scale

industries.
o SENT A THE HEEAT SqE |
(vii) What is Foreign Direct Investment ?
wore facstt few =0 7 2
Section-B 4x7=28
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
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. Discuss briefly factors affecting Economic

Environment.

anfefer Tafeor w1 guIfed i dl Hehi il WY H
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. Discuss the main objectives of Economic Planning.
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. Discuss briefly impact of World Trade

Organisation on Indian Agriculture.
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. Critically discuss the role of multinational

corporations in Economic Development of India.
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. Write a note on ‘Challenges of Globalisation and

small scale Industries’.
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7. Explain the composition of India Foreign Trade. 10. What are the causes of adverse balance of payment

IRA & foRell =R &t AT A T SIS | in India ? What efforts have been made by the
8. Discuss the present Export-Import Policy of India. Government of India to solve the problem ?
IRd &1 aAE fafa-saE Hifd &t foee st Explain.

9. Discuss the impact of liberalisation on Industrial
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Development of India.
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Section—C 2x14=28 11. Discuss the causes of unemployment in India.

(Long Answer Type Questions) What efforts made by Government to remove the

Note .— Answer any two questions. You have to delimit problem ?
your each answer maximum up to 500 words. I ﬁ auqlua Eﬁ‘ ch|{U|i Al quiq c|$|f¢||{| TH HHE
Each question carries 14 marks. I e I
gus—H
12. What are the main achievements of planning in
& s ) L . o
) ) India ? Light on the failures of planning in India.
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13. How the present Industrial policy of India is
different from preceding policies ? Discuss the
major proposal.
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